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Lists and Arrays

* An array has fixed size
* All elements of an array are of the same type



public class Person { public String getName() {
return firstName + " " + lastName;

/* Attribute declarations */ }
pr!vate Str!ng IgstName; /1 Igast name public String getEmail() {
private String firstName; /I first name return email:
private String email; /I email address } ’
/* Constructor initializes the person's name and public void setEmail (String mail) {
email address */ email = mail;
public Person() { )
lastName = ", public void setName(String newFirst, String newLast) {
firstName = ""; firstName = newFirst;
email = ""; lastName = newlLast;
) ,
public Person(String first, String last, String mail) { public boolean equals(Person other){

if (this.firstName.equals(other.firstName) &&

firstName = first; this.lastName.equals(other.lastName))
lastName = last; return true;

email = mail; else
} return false;

}

1
public String toString() {
String s = firstName + " " + lastName + "\t" + email;
return s;



public class SocialNetwork {

/I default size of array 1 I
private final int DEFAULT_MAX_FRIENDS = 10; Consaw

[* Attribute declarations */

private Person[] friendList; // list of friends

private int numFriends; /I current number of
/I persons in list

/**

* Constructor creates person array of default size

*/

public SocialNetwork () {
friendList = new Person[DEFAULT _MAX_FRIENDS];
numFriends = 0;

}

/**
* Constructor creates person array of specified size
* @param max: size of array
*/
public SocialNetwork(int max) {
friendList = new Person[max];
numFriends = 0;



public void add (Person newFriend) {
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Two Dimensiooal Av@ys



Scope of a Variable

PU\OUC class TCS‘& {
«Wate Wb Jox A s
pewate int 13
Qub\i\c_ Test O
JexA =T
1=105
ste voud o\got (int A1
=35
y=ws
?(\'\Io‘ke \ID{J» <x\901 (w\‘l: i\ {

1=20,
vax4 = 1005

?(N

3
public N oid o\go 20%

it \JA\’\:?_)‘): S
Sox Lint 2=15 i<as )
\Jaw\=~lm‘\+-i,->
wt x= 1
algoZ ()5
5\/5‘\'&«\0“{.?
algor (3 )
Systew owt A?‘(‘\v\‘k\v\ G l)
Systee- ouk. \m\'\&h\ (N s

bl AR

a4 maivx(%\f\'vxcgﬂ acgs) i

public takic Vol
Test OO

TeSt ‘t= new
‘ba\soﬂ\')



